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Response Grid (Check the appropriate boxes thus: X )
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cwb-1. Execute 2 Women + 5 Men

Your Work:

i. You must make your case for whatever you are asserting.

ii. Circle which of the following choices corresponds to your result.

a. 2 b. 5 c. People d. 7 People
e. None of the above four choices

iii. Check the corresponding box in the Response Grid on the front page thus: X..

cw5-2. Add 3002.38 Liters to 804.034 Liters

Your Work:

i. You must make your case for whatever you are asserting.

ii. Circle which of the following choices corresponds to your result.

a. 3806.62 Liters b. 3806.414 Liters c. 3806.72 Liters d. 386.414 Liters
e. None of the above four choices

| iii. Check the corresponding box in the Response Grid on the front page thus: Xl

cw5-3. Add 0.00034 TeraBytes to 31.738 TERABytes

| Your Work:

i. You must make your case for whatever you are asserting.



ii. Circle which of the following choices corresponds to your result.

a. 31.73834 TeraBytes b. 31.4138 TerABytes c. 32.078 TerABytes
d. I don’t know what TERABytes are
e. None of the above four choices

iii. Check the corresponding box in the Response Grid on the front page thus: X..

Cw5-4. Subtract 312.38 SquareFeet from 8 048.034 SquareFeet

Your Work:

i. You must make your case for whatever you are asserting.

ii. Circle which of the following choices corresponds to your result.

a. 7735.654 SquareFeet b. 7736.754 SquareFeet
c. 7735.654 SquareFeet d. Cannot be done
e. None of the above four choices

iii. Check the corresponding box in the Response Grid on the front page thus: X..

Cw5-5. Subtract 8048.034 Gallons of Gas from 312.38 Gallons of Gas

Your Work:

i. You must make your case for whatever you are asserting.




ii. Circle which of the following choices corresponds to your result.

a. 7735.654 Gallons of Gas b. 7736.754 Gallons of Gas
c. 7735.654 Gallons of Gas d. Cannot be done
e. None of the above four choices

iii. Check the corresponding box in the Response Grid on the front page thus: X.

cw5-6. CLASSWORKtext

Your Work:

i. You must make your case for whatever you are asserting.

ii. Circle which of the following choices corresponds to your result.

a. a b. b c. c d. d
e. None of the above four choices

iii. Check the corresponding box in the Response Grid on the front page thus: X..




